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Mandatory or Optional : Mandatory

Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191669
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 70819111496 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

4
The value of the integral _”‘:' .‘L'2|=i1' ig :
—4

Options :

70819137281.

70819137282.
70819137283.

70819137284, -

Question Number : 1 Question Id : 70819111496 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



4
[lo-x?|dx 4 yeu 9.

—4
Options :
121
70819137281.
122
70819137282,
125

70819137283, -

70819137284.

Question Number : 2 Question Id : 70819111497 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The sum of infinite number of terms of a Geometric Progression is 3 and the sum of the

squares of ils terms is oy The sum of the cubes of its terms is :

Options :
31
70819137285, 1°
108

70819137286. 19

70819137287.

ﬂ“ﬂ

70819137288.



Question Number : 2 Question Id : 70819111497 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

w4 HH’{LQ[N? ’-‘ﬂlL?lHl Vi YEIAL HIAUNL 3 2 o YELHL ':{3L(Hl HaAlnl = 9, dl d MElAL &AL Al

s,
Options:
31
70819137285, 1°
108

70819137286. 19

m|L‘j

70819137287.

e
70819137288. 7

Question Number : 3 Question Id : 70819111498 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following Boolean expression is a tautology ?
Options:

70819137289, F =P V4

70819137290, (P79 =P

70819137291, B~ 7PV @) v (~9)



70819137292, PV "P) A (@ Vv (~q))

Question Number : 3 Question Id : 70819111498 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ALl Usll 59 ordly (0ol [Het wey © 7
Options :

70819137289, F =P V4

70819137290. (P79 =P

70819137291, P~ PV @) v (~9)

70819137292, PV ~P) ~ (@ v (~9)

Question Number : 4 Question Id : 70819111499 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o o] o o] &
Let [ <1, |b|<1, |c[<1 and x= ) a", y= Vb, =Y I
n=0 n=({) n=0

r

» — are in Arithmetic

11
l
Progression, then :

Options :

70819137293, & b and care in Arithmetic Progression

70819137294, & b and ¢ are in Geometric Progression

70819137295, & 2b and ¢ are in Arithmetic Progression

o Thi=
20819137296, & P and c satisfy 2b“=ac



Question Number : 4 Question Id : 70819111499 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

- . s N I I PE—
‘{P;L S _a-{]r b {L cl<] YA x= l a"r .1!': l bnr q= l Cn 'c';“ 7l ;’ 1_;' T HYldz HL&LU{[
n=0 n=(0 n=0 I i
i, dl:
Options:

70819137293, & D e ¢ HHIAZ Aoyl 9.

70819137204, & b i ¢ AERUR ALUHL .

70819137295, & 2P i ¢ Az Al 9.

70819137296, & P 2t ¢, 9 2b2 =ac + UHIAA 52 6,

Question Number : 5 Question Id : 70819111500 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-

N “+M+5

M

is equal to :
n=1] n! q

Options :

70819137297, 15e+5

70819137298, 19e—5

70819137299, 16e—2



70819137300, 16€—7

Question Number : 5 Question Id : 70819111500 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A
“

e & iy} Ly =
% AN T/t 0 —
deaad 1
n=1 n:
Options :

70819137297, 19e+5

70819137298, 19e—5

70819137299, 16e—>

70819137300, 16e—7

Question Number : 6 Question Id : 70819111501 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The least positive integral value of A such that 107+ (3 (4)°2)+ A is divisible by 9 is :
Options :

70819137301, 2

L

70819137302.

~]

70819137303.

[

70819137304.



Question Number : 6 Question Id : 70819111501 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
1070+ (3% (4)%2) + A 2L 9 &b [Aeust ot el A Al vt Al a yelds dvr 8,

Options :

70819137301, 2

(58]

70819137302.

~1

70819137303.

[

70819137304.

Question Number : 7 Question Id : 70819111502 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

There are 4, 5 and 6 points on the three parallel and co-planar lines. If no set of four or more
points is cyclic and no set of three points lying on distinct lines is collinear, then the number
of circles passing through exactly three points is :

Options :

70819137305, 455

70819137306, 421

70819137307. 435

70819137308, %1

Question Number : 7 Question Id : 70819111502 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AL Ui A Al L@l 4 4, 5 24 6 (gl 20 8, od Uik 5 dell ag Pigall aliy é qdisid
L o €l et [Gert 3010 R 2kl AL [GgAL UuReL G, el 519 2181 A €1, dl ot 2o (G2l widl
Yk Al adelidl v 8,

Options :

s

70819137305, 435

70819137306, 421
70819137307. 435

70819137308, **!

Question Number : 8 Question Id : 70819111503 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ar - b ,
Ify==———3————1—hasanex&mnun1ﬂthopnﬁﬂ{2,_ILthonthevﬂuesniaandhaue:
X

Options:

708191373009.

70819137310.
70819137311.

70819137312.

Question Number : 8 Question Id : 70819111503 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ay=—o 2 J Qg (2 ~1) 2ol el yed G, dla A byl 9,
B ¢ S N ] § 1 il

Options :

70819137309, @=1, b=0

70819137310, 2=0- b=1

70819137311, 2=0, b=—1

70819137312, 2= L b=l

Question Number : 9 Question Id : 70819111504 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The distance between the planes I |2:'. I ; Zk' +5=0 and - ‘,h.;" | "1; hﬁf. F2=01s:

Options:

70819137313, 12
70819137314, 4

70819137315, ¢

70819137316.



Question Number : 9 Question Id : 70819111504 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

wuedl 1o (2047 -2k)+5=0 24 1~ |6 +3]-6k|+2=0 a2 2z )

Options :

70819137313, 12
70819137314, 4

70819137315. ¢

70819137316.

Question Number : 10 Question Id : 70819111505 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1
The pmhabilit}' of mIving a pmblem in Mathemalics b}-‘ two students X and Y are Z and g

respecfivol}-'. If both of them try to solve the prohiem i_t\depondentl}’, then the prohahﬂjty
that the problem will be solved by exactly one of them is equal to :

Options:
7

70819137317, 2U

oy
20
70819137318

19

70819137319. 20U



12

70819137320. 2V

Question Number : 10 Question Id : 70819111505 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
b . ™ e T L L = J- j- LAY . a,
o [renellAl X4 Y st Al hs wa Goell st ol doutrt 24t 7 ot 8. ol et ot 20

WA G5asirl2ada o e 52, ol oirl Hidl e ior 245 o7 g0 20 ue G5l st addl deua
®.

Options :
7

70819137317, 2U

1
20
70819137318

19
20

70819137319.
12

70819137320. 2V

Question Number : 11 Question Id : 70819111506 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L L-;una_ltn:
1—i

The pnIar form of the cm‘nplex number

Options :

CDSE 1 siruE
9 9
70819137321. = =



70819137322. = 2

cns{il isht%L
70819137323,  * &

o8 — — 1 sin—
70819137324.

Question Number : 11 Question Id : 70819111506 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

sgr v 1M gy 8.
1—i

Options:

COSEIl i5ﬁ1zi
2 2
70819137321. = =

70819137322. = 2

cns{il isﬁl%L
70819137323,  * &

COS — — i sin—
70819137324,  *

Question Number : 12 Question Id : 70819111507 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



If the equation of a line which divides the line segment joining the points (I, 0) and (3, 0) in
the ratio 2 : 1 and is also perpendicular to it, is ax=7, then the value of a is equal to :

Options :

70819137325, 2

70819137326. -

70819137327.

=

70819137328.

Question Number : 12 Question Id : 70819111507 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e (G451 (1,0) 24 (3, 0) A sl Wolvise] 2: 1 Al el [ettsrt sl 24 d ded ¢l dell 2o
willsielar=7 ¢, dlagyd 8.

Options :

()

70819137325.

70819137326. -

70819137327.

70819137328, !

Question Number : 13 Question Id : 70819111508 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Equation of the circle, which is the mirror image of the circle 1%+ y*~ 2x=0 with respect to
the line x +y=2, is :



Options :

20819137329, X +yr—2x+4y+3=0

20819137330, X F ¥ —4x—2y+4=0

i P, W
20819137331, 2"ty —xty+1=0

2 S S =]
70819137332, % T¥ 24y +3=0

Question Number : 13 Question Id : 70819111508 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 22+ 12— 2v=0 Al L x +y=2 A U AR Al gl qad agag wellsee
Options :

70819137329, X~ Hy?—2x+4y+3=0

70819137330, ¥ +¥ —4x—2y+4=0

S L R
70819137331, 2ty —xty+1=0

-2 LI T T
20819137332, ¥ Ty —2x—4dy+3=0

Question Number : 14 Question Id : 70819111509 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

5
. : . : ¥+ o =1 .
Equations of the common tangent of the ellipse ( = ) | i 1 and the circle

(x+1)24 (y—1)2=4 are :



Options :
20819137333, ¥13=0 and x—1=0

70819137334, ¥ -3=0 and y+1=0

70819137335, ¥*+3=0 and x—-1=0

y+3=0 and y—1=0
70819137336. * :

Question Number : 14 Question Id : 70819111509 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(x+1)  (y-1)

Guaay Tt =1 2 aq® (x+1)2+ (y—1)2=4 i @y 2aisial wdflsae
.
Options :
+3=0 24 x—1=0
70819137333, !

70819137334, ¥~ 3=0 2y +1=0

70819137335, X +3=024x—-1=0

70819137336, ¥ T3=0 ¥t y—1=0

Question Number : 15 Question Id : 70819111510 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 a .
If A =L 1], then Ak (keN) is :



Options :

70819137337.

70819137338.

Tk ka
0 k

70819137339.

{1 1\1
o 0
70819137340. -

Question Number : 15 Question Id : 70819111510 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

70819137337.

70819137338.

70819137339.



{ 1 1\1
1]
70819137340. ~

Question Number : 16 Question Id : 70819111511 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The values of s and t, for which the system of equations
Il 'I'.’in' .1'3=5
y S T MR -
x;+3x;+sx3=t

has no solution, are :

Options :

70819137341, $=2. =13
70819137342, 5= 5

70819137343, S=2 t# 13

70819137344, 1 =

Question Number : 16 Question Id : 70819111511 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ilszel el vy + 2, +23=5
Xy +2x,+3x;=9
X, +3x, +sx,=t
A G5e A €l dotl s wieA bl Yl 9.

Options :

70819137341, $=2 =13



70819137342, =5

70819137343, $=2 t# 13

70819137344, ¥ 13

Question Number : 17 Question Id : 70819111512 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o I \ .l 2%
Derivative of Lan 1 l 5 | with respect to sin I l 5 | n (1, «), 1s:
([ 1-x ) 1+ x° )
Options :
70819137345. 1

70819137346, 1

70819137347, ©

70819137348.

Question Number : 17 Question Id : 70819111512 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2% N L AT T
z‘jsm
x|

: A Wus (1, o) wifaslad 9,
X

i
tan 1 ‘

i,

Options :

70819137345. :



70819137346, ~ 1

70819137347, ©

70819137348. 2

Question Number : 18 Question Id : 70819111513 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

—

Let a, b and ¢ be three vectors such that

=L;=]. Il’gxlgxcll h=a,then

-k

—

the acute angle between a and ¢ is:

Options :

e

70819137349.

L

70819137350.

70819137351, °

70819137352.

Question Number : 18 Question Id : 70819111513 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



adl} 2, B o Amdkalal 0, ol 7= lol= 1y d axlaxe)+5 =0 dua

|u|n 1

a il o 9l agslel 9.

Options :

e

70819137349.

Sk

70819137350.

w|a

70819137351.

S

"

70819137352.

Question Number : 19 Question Id : 70819111514 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Solution of the differential equation (1 + y?)dx = (tan~ly—x)dy is :
(where c is an arbitrary constant)

Options :

Nt -1 —tﬂn_tg,r
70819137353, ¥~ 1 tan ytce

w 1 ; tan "1y
70819137354, V=80 y-1itce

. -1 _ —-tan_ly
70819137355, Y t@an y-ltce

70819137356, *~ tan y-l-ce



Question Number : 19 Question Id : 70819111514 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[4se %t'*ﬂﬁ?:ii‘{ (1 +yl}dx= (tan Iy —x)dy Al Gie B— .

(sl ¢ 262 2uNis 9)
Options :

e -1 —tan "y
70819137353, Y~ L tan ytce

ot 1 : tan Lx
70819137354, Y@ ¥ lice

. ~1 __—tan Y
70819137355, Y tan y-ltce

e 1 an x
70819137356, X~ tan y—1-ce

Question Number : 20 Question Id : 70819111515 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The values of , for which the vectors a = (2 '16)':' | -1; (x? ZSJL make acute angles with
the (positive directions of) coordinate axes lie in :

Options :
70819137357, |~ ~41 W 43

70819137358, [~ 4) v (=4 5]

70819137359, (79 ~4) v (4 5)

70819137360, > ¥V (743



Question Number : 20 Question Id : 70819111515 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

kel @ =(@2-16)i 44~ (r2-25)k 3 wrusldl (4 o) 0 qgsiel i ddl x Al Gudl

TR

Options:

70819137357, L2 —41w 4, 5]

70819137358, |2 4) = (4, 3]

70819137359, (72 ~4) v (& 3)

70819137360, | 2 PV (7%9)

Mathematics Section B

Section Id :

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

708191390
2

Online
Mandatory
10

5

20

Yes

1
708191670

Yes



Question Number : 21 Question Id : 70819111516 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

(1+ cos2x 35
I
¥

:-[\I x is

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819111516 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

gy =

T 1+ cos2x
N——
0
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819111517 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The minimum value of Ytan20+4cotX0 is .

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 22 Question Id : 70819111517 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

9tan2) + 4cot20  HAdU Yt B,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819111518 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

-~ + ~ & + -‘- *
The length of the perpendicular from the point (1, 2, 3) to the line = = is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819111518 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

01T 2 el %,

(G (1,2, 3) &l wu

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819111519 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

. _
If log, 2, log, (2*-5) and 1053[21 % | are in Arithmetic Progression, then the value of x is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819111519 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

. i f \ - ; &
o log, 2, log, (2*=5) i 10331 2* % | ALl el e, dla g Hed W

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 25 Question Id : 70819111520 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If x2+x+1=0, then [ll i|2 | l 2 inz i ~'|2 L is
| e |

=
>
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 25 Question Id : 70819111520 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1‘\.2 i 2 1'.

,,-;l 2+1r+1=0 é‘H, rﬁ J{ ¥
x/

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 26 Question Id : 70819111521 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
x24y2=4x-2y-11=0 is a circle to which tangents are drawn from the point (4, 5) which
form a quadrilateral with a pair of radii. The area of this quadrilateral in square units is
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 26 Question Id : 70819111521 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A4qol x2 4 2 — 4y -2y~ 11=0 « [5 (4, 5) il 22 wualst, Bloaumiidl sds uid 2is ugsiel o
. 2 ugeslon dsmal Al 8,

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819111522 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If the sum of mean and variance of a binomial distribution is 15 and the sum of their squares
is 117, then the number of independent trials is equal to

Response Type : Numeric

Evaluation Required For SA: Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819111522 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
I

ol 215 [5ugl (el Heus 2 (G20l 42l 15 24 dHel @l 2Rl 117 é, dl [[eug

Wiedlell dvy @,
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 28 Question Id : 70819111523 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let the equation of the plane passing through the points (1, 2, 6}, (2, 5, 7) and perpendicular
to the plane 4x—y+z=15be ax+by+cz+d=0. Ifa, b, c, d= Z with ged ( al, |b|, [eh=1,
then |a+b+c+d|is equal to _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 28 Question Id : 70819111523 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
il 5 G5l (1, 2,6), (2,5, 7)4idl Wi ddi 2 4idd dy—y+2=15 4 4ot ¢4 ddl #qddd

H’*{lﬂtﬂ ax+by+cz+d=0 9. 3. b.c, deZ w4 AL, (ja), b, () =1 &_ﬂ:li{, dl la+b+c+d

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819111524 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

3w
The number of real solutions in the interval [ e T-‘ of the equation 4sin’x — 8sinx +3=0

b |

15

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819111524 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

7
G

p : 3 . ; i i s 5
ullsel 4sin?y—8sinx +3=0 i, [ — -‘*HFLELQ{HL el Godiedl vt 8.

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819111525 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
1110

Let Ay, Ay Ag e be an increasing geometric progression, If E' As 63 and

AA =441, then 3(A,+A,)isequal to
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819111525 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

- - y _rTarmn —_—
QRLS Al Ay Ay e 21205 98l WRL0URR 28U 9. o Ay ! As o AsA=ULER d

63
3A,+A)=_
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :



5 to 5.001

Aptitude Test
Section Id : 708191391
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191671
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819111526 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which among the following is the full form of the "UNESCO" ?
Options:

70819137371. United Nations Educational, Scientific & Cultural Organization.
70819137372, United Nations Educational Security Cultural Drgaxﬁ;:atinn.

70819137373, United Nations Entrance Site Calling Organization.

United MNations Educational, Sustainable & Cultural Drg_anizaticm.
70819137374.



Question Number : 31 Question Id : 70819111526 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
UNESCO’ « el 23y Al2-midl 53 © 7
Options:

70819137371. United Nations Educational, Scientific & Cultural Organization.
70819137372, United Nations Educational Security Cultural Drgaxﬁ;:atinn.

70819137373, United Nations Entrance Site Calling Organization.

United Nations Educational, Sustainable & Cultural Drganizattcm.
70819137374.

Question Number : 32 Question Id : 70819111527 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List - I with List - 1L
List - 1

(I)  Hall of Nation (a)

(II) Falling Water, Pennsylvania (b)

(I) Petronas Tower (c)
(IV) Secretariat (d)
Options :

70819137375, (D-(b), (ID)-(a), ([D)-(d), (IV)-(c)

20819137376, D-9). (I)-(d), (ITD)-(a), (IV)-(b)

20819137377, L-@), (I)-(), (D-(c), (IV)~(d)



20819137378, S92 {T0HR), (D<), (V)+d)

Question Number : 32 Question Id : 70819111527 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
1111 A “0E]-1 gl olsdL

Ql - 1
() ¢ld »ils 2t (a)
(I stlder dlex, U-eadl (b)
(TIT) Wl 2leir (c)
(IV) #4234 (Secretariat) (d)

Options:



70819137375. (D)-(b). (I)-(a). (IID)~(d), (IV)-(c)
20819137376, D-€) (1)-(d), (LD)~(a), (IV)-(b)
20819137377, 1-@), (I)-(b), ()-(c), (IV)-(d)

70819137378, O(P) (0-@). D<), (V)Ad)

Question Number : 33 Question Id : 70819111528 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 1L

List - | List - 11
(I) Kamru (a) Victoria Memorial Hall
(II) Delhi (b) Badrinath Temple
(IIT) Fatehpur Sikri (c) Khirki Masjid
(IV) Kolkata (d) Buland Darwaja
Options :

~og1137370. -(B), (D-(©), AD-@), (V)@
20819137380, M-B), (ID-(), (M-(c), (IV)-(a)
0819137381, 0O, (D-@), (D)-b), (V)<(d)

20819137382, W(P) (1D-@), (ID~(d), (IV)~(c)

Question Number : 33 Question Id : 70819111528 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



qIEl-11 A g l-1 JE 20sdL

ST | 415 -11
() 5343 (Kamnu) (a) [Ascila *ikud ¢ld
(I (el (b)  oilg- il
() sy (sl () [esl wRevs (Khirki Masjid)
(IV) Slasidl (d) e 2l
Options :

081137375, -(B), (D-(©), A-@), (V)

70819137380, (D-(b). (IN-(d), (T)-(c), (TV)-(a)

70819137381, D). (I)-(@), (ID)-(b), IV)-(d)

70819137382. (D-(b), (ID)-(a), (HD)-(d), (IV)-(c)

Question Number : 34 Question Id : 70819111529 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List - 1 with List - 1L
List - 1 List - 11

(I) Agra fort (a)

(IT) Atala Masjid (b)

(If) Nalanda University (c)

(IV) Jagannatha Temple (d)

Options :
70819137383. (D)-(b), (ID-(c), (IID)-(a), (IV)-(d)

20819137384, (-(a), (I)-(b), ([TD-(c), IV)~(d)

70819137385, 1) (D-(a), (IID-(d), (IV)-(b)

70819137386, 0B (ID-(a), (ID~(c), (IV)-(d)



Question Number : 34 Question Id : 70819111529 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AlEl-11 A 2zl -1 2 slsdL
qizl - 1 Azl - 11

() 2t (el (a)
() =ae1en qfers (b)
(D) Azt [Bealhens (c)
(TV)  seati (e (d)
Options :

70819137383, (D-(b), (1)-(c), (LD)-(a), (IV)-(d)

20819137384, (-(a), (I)-(b), ([TD-(c), IV)~(d)



70819137385, (140 ()-@), A)-(d), (IV)~(b)

70819137386, 0P} (1)-@). (-(c), (TV)L(d)

Question Number : 35 Question Id : 70819111530 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11,

List - 1 List - 11
() Yadvindra Garden (a) Manali
(II)  Vishnu Temple (b) Amritsar
(ITII) Hidimba Temple (c) Pinjore
(IV) Hari Mandir (d) Bunivar
Options :

70819137387. {U"(Clr {H]'{d]r (IH}-(bL {IVJ-{a]

70819137388, (D), (I)-(d), (II)-(a), (IV)-(b)

20819137389, (D-(d), (ID-(), (ID-(c), (IV)a)

70819137390, (D-(b), (I)-(d), (II)-(a), (TV)-(c)

Question Number : 35 Question Id : 70819111530 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

4igl - 1A “@sl - 12 oAl

ST | 4EL - 11
(I) Yadvindra Garden (a) Manali
(II)  Vishnu Temple (b)  Amritsar
(IlT) Hidimba Temple (c) Pinjore
(IV) Hari Mandir (d) Buniyar



Options :
20819137387, (D-(€), (I)-(d), (ID)-(b), (IV)-(a)

70819137388, (D-(©). (I)-(d), ()-(a), (IV)-(b)

20819137389, (D-(d), (ID-(b), AID~(c), (IV)~(a)

70819137390, (D-(b), (I)-(d), (M)-(a), (V)-(c)

Question Number : 36 Question Id : 70819111531 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11.

List - 1 List - 1I
(I)  Mehrangarh Fort (a) Hyderabad
(II)  Siri Fort (b) Kolkata
(IIT) Golconda Fort (¢) Delhi
(IV) Fort William (d) Jodhpur

Choose the correct answer from options given below :
Options :
20819137391, \D-(@), ()-(d), (ID)-(b), (IV)-(c)

20819137392, D), (ID)-(c), ([ID)-(a), (IV)-(b)

70819137393. (D~(d), (I)-(c), (IID)-(b), (IV)-(a)

20819137394, 0@, (D), (D-(d), (V)-(c)

Question Number : 36 Question Id : 70819111531 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

qigl - 1A @dl - 1208 ousdl.

qiEl - 1 Azl - 11
(I) Mehrangarh Fort (a) Hyderabad
(I}  Siri Fort (b) Kolkata
(IIT) Golconda Fort (c) Delhi
(IV) Fort William (d) Jodhpur

Al [seqiisl Al seened wis 53l

Options :
20819137391, (@), (I)-(d), (II)-(b), (IV)-(c)

70819137392, (D), (I)-(e), AD-(a), (IV)-(b)

20819137393, (D-(d), (I)-(c), (IID-(b), (IV)~(a)

70819137394, 0 (@), (D-(b), (ID-(d), IV)-(c)

Question Number : 37 Question Id : 70819111532 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Book ‘God of small things’ is written by which Indian Architect ?

Options :

70819137395, B-V. Doshi

70819137306, “rundhati Roy

70819137397, Revali Kamat

7081913739g, Dimal Patel



Question Number : 37 Question Id : 70819111532 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Al sl 52 szl RSz Yads ‘God of small things' @4 © 7
Options :

70819137395. ofl.dl. glaLl

20819137396 238l 214 (Arundhati Roy)

70819137397, el 514t

70819137308, Lot et

Question Number : 38 Question Id : 70819111533 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘Tharokha' is a type of window mostly found in :

Options :

70819137399, Cujarat

70819137400, 'Vest Bengal
Tamil Nadu

70819137401.

70819137402, Rajasthan

Question Number : 38 Question Id : 70819111533 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
‘e B oAl 25 MER © o7 uaed AUl Al s A B )
Options :

70819137399, A%l

70819137400, “ud

70819137401, WA

70819137402, Lol

Question Number : 39 Question Id : 70819111534 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The monsoon wind enters in Indian sub-continent from which direction ?
Options:

70819137403. North-West side

70819137404. South-East side

70819137405, orth side

70819137406, S0uth-West side

Question Number : 39 Question Id : 70819111534 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

iRl GuuisHl AR wadl 58 [Fuetiel ueal 9 7



Options :

ey oflsy#l
70819137403. k-

2[5 oyl
70819137404. :

Gz dzssd
70819137405, 2 el

70819137406, "t CllsfAl

Question Number : 40 Question Id : 70819111535 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following building represents the colonial Architectural pattern in India ?
Options :

70819137407, Pharat Bhavan in Bhopal

70819137408. LIC Building in Delhi

70819137409, Charminar in Hyderabad

70819137410. Victoria Memorial in Kolkata

Question Number : 40 Question Id : 70819111535 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Al il MRt 59 %51t ditédl-2414c4- i (Colonial Architectural pattern) A 25( 5% 9.

Options :



70819137407, MHIAT MRet Mo

70819137408, [Fedld LIC %51t

70819137409 dgeus-l AR (e

20819137410, S@5til [2seldla Hulleue

Question Number : 41 Question Id : 70819111536 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the size of A2 Drawing sheet ?

Options :

70819137411. 420 > 590 (mm X mm)

70819137412. 420 % 594 (mm % mm)

20819137413, 297 ¥ 420 (mm x mm)

70819137414, 20592 (mm>mm)

Question Number : 41 Question Id : 70819111536 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A2 [F121-dlsct (Drawing sheet) < 5% 54 ¢4 © 7

Options :

70819137411. 420 % 590 (mm x mm)



70819137412. 420 % 594 (mm * mm)

20819137413, 297 ¥ 420 (mm x mm)

70819137414. 420 % 592 (mm * mm)

Question Number : 42 Question Id : 70819111537 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Victory Tower belongs to which of the following fort :
Options :

70819137415, Chittor fort

20819137416, Jaigarh fort

70819137417, Bhangarh fort

70819137418, ‘vmer fort

Question Number : 42 Question Id : 70819111537 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
[Ghor 2cior Al mial 541 204l 20dd 9 7
Options :
Fieis 212

70819137415.

70819137416, 2 Bl



70819137417, MPlle [Ledl

70819137418, 1 ke

Question Number : 43 Question Id : 70819111538 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which amongst the following Architect has designed the famous Temple “Akshardham” ?
Options :

70819137419, Sanjay Puri

70819137420, Vikram Lall

70819137421, ‘ishok Lall

. Sc
70819137422, & Sompura

Question Number : 43 Question Id : 70819111538 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
wudied {5 “ogran’” daamidl sa argsi B 54 9 0

Options :

70819137419, 254 42l

70819137420, (54 €14

70819137421, 225 dld



70819137422, 4l #H4L

Question Number : 44 Question Id : 70819111539 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

"Volume Zero” Documentary is on which Architect ?
Options :

70819137423, Charles Correa

70819137424, Richard Mier

70819137425 Jasbir Sachdev

70819137426, Ramjit Sabliki

Question Number : 44 Question Id : 70819111539 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
“Volume Zero' Eacldls) $41 dlagsiz 42 & ]

Options :

70819137423, U sl
70819137424, “L415 ¥z (Richard Mier)

70819137425, el e

20819137426, 289 Hotdlsl (Ranjit Sabliki)



Question Number : 45 Question Id : 70819111540 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

’Agenda 21" is declaration related with :

Options :

Climate cha.ng_r:
70819137427.

70819137428 Global warming

70819137429, Sustainable development

70819137430, Smart city

Question Number : 45 Question Id : 70819111540 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

"lef sl 217 2 A Aedela alnen 9 7

Options:

70819137427, EHliA “EdIA

70819137428. A5 qtidl drHiy-l se-l

70819137429, #UIel [Ast

*
=]

ez

)

T4

LY

70819137430.

Question Number : 46 Question Id : 70819111541 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Gold mines are situated in which state of India ?
Options:

70819137431. Karnataka

70819137432, Orissa

70819137433, Maharashtra

70819137434. Uttar Pradesh

Question Number : 46 Question Id : 70819111541 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

iz ctetl 5241 sl il ver 2ugdl ©
Options :

70819137431, tUes

70819137432, ALl

70819137433, 1Ekl%

70819137434, Grauzal

Question Number : 47 Question Id : 70819111542 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In the Southern Hemisphere shadowless light is from which direction ?
Options :
70819137435, Nerth

70819137436, >0uth

70819137437, Cast

70819137438, West

Question Number : 47 Question Id : 70819111542 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
elEeL slenenl wesizled usieL 58 Baumiadl 2ud 7
Options :

70819137435, @t

70819137436, &5l

70819137437, =

70819137438, “l4

Question Number : 48 Question Id : 70819111543 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The flirst Indian Architect who has won Pritzker Prize in 2018 is :

Options :



T "
70819137439, DY+ Doshi

70819137440, Laurie Baker

70819137441, (a1 Rewal

70819137442, ‘*chyut Kanvinde

Question Number : 48 Question Id : 70819111543 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2018 i Bleatsz Yeas1a ez Ha oyl dligsi siel edi )
Options :

70819137439, “LAl B

70819137440, @2l eis2

70819137441, & 2414

=11 ; | "'E
70819137442, 4%+

Question Number : 49 Question Id : 70819111544 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Word “Bungalow” has originated from :
Options:

70819137443, Bengalurm



70819137444, Banaras

70819137445, Bengal

70819137446, BTt

Question Number : 49 Question Id : 70819111544 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

“Bungalow” 21%% Alzmiel sl Guasl Geordl 87
Options :

70819137443, Bengalurm

70819137444, Banaras

70819137445, Bengal

70819137446, Bari

Question Number : 50 Question Id : 70819111545 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The IIM - Ahmedabad is designed by which of the following Architect ?

Options:

70819137447, Laurie Baker

70819137448, Louis Kahn

70819137449, Hutyen



70819137450. Le Corbusier

Question Number : 50 Question Id : 70819111545 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

M —»iugelE-l [otid ARl s argst 4.9 )
Options :

70819137447, Al cts2

g8 s1¢
70819137448, - 7T

70819137449, <314

70819137450, 51

Question Number : 51 Question Id : 70819111546 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the given figure, how many squares are present ?

Options :

70819137451, 14

70819137452, 13



70819137453, 12

70819137454, 18

Question Number : 51 Question Id : 70819111546 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
U (AR Sedl ARH AW D )

Options :

70819137451.

70819137452, 1°

70819137453, 12
70819137454, 18

Question Number : 52 Question Id : 70819111547 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A drawmg_ is pmvidod with all the folds to construct the foIInwing three Dimensional ohject.
Select the correct one.



Options :

70819137455.
|
|
70819137456.
-
_I e
| | |
70819137457.
| _
70819137458. =

Question Number : 52 Question Id : 70819111547 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



arcdted 2ugleriell 21 wedl 2ug(a 2l sredl oell adl2iia il 20t B-yGaell el Hule 51
S,

Options :
I —
|- |
70819137455.
I
I
70819137456.
-
_I e
| |-
70819137457.
| ||
70819137458. m

Question Number : 53 Question Id : 70819111548 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct view looking in the
direction of arrow, amongst the answer figures.

KX O
[

Options :

708191374509.
70819137460.
70819137461.

70819137462.




Question Number : 53 Question Id : 70819111548 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s 23(d 2ls e Gudl et v 9. dla-dl Bausd el g 209 £ed svaor suglazitail sl sl

i DE 0
Options :

A
708191374509.

A |
70819137460.

\
70819137461.

70819137462.




Question Number : 54 Question Id : 70819111549 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.

—
I

Options :
70819137463.

L
70819137464.

[ 1
70819137465.
70819137466.

Question Number : 54 Question Id : 70819111549 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A 2l 215 wedd Gudl et e 9. dlidl Bl i wad w03 G 24 s 20gliiivigl
44 52l

|

Options :
70819137463.

L
70819137464.

[ 1
70819137465.
70819137466.

Question Number : 55 Question Id : 70819111550 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.

<>

T

Options :

70819137467.

70819137468.

70819137469.

70819137470.

Question Number : 55 Question Id : 70819111550 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



w4 25l s g Gudl e et 8. clliedl Bausi sdotl g 202 Getet £ svetieg wuglodiniall 451

5L

Lo

T

Options :

70819137467.

70819137468.

70819137469.

70819137470.

Question Number : 56 Question Id : 70819111551 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



One of the [ olinwing answer I’igures is hidden in problem ﬂguro in same size and direclion.
Select correct one.

Options :
70819137471. >
70819137472. D
70819137473. P
70819137474. ﬁ

Question Number : 56 Question Id : 70819111551 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

seetier 2u5[aaimisl 205 25(d 2er 58 2 (B2l wa 2uglanl spuetdl 8. wizl sedio il

Options :
70819137471. 5

70819137472.



70819137473. ;
70819137474. ﬁ

Question Number : 57 Question Id : 70819111552 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One of the following answer figures is hidden in problem figure in the same size and direction.
Select correct one.

Options :

70819137475.

70819137477.

O
70819137476. G)
0
TN

70819137478.



Question Number : 57 Question Id : 70819111552 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

srelted 2l 245 2l 2o 55 214 G @ um 2ugland ueld 8. el sede diEl

Options :

70819137475.

70819137477.

O
70819137476. Q
0
A

70819137478.

Question Number : 58 Question Id : 70819111553 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

One of the following answer figures is hidden in the problem figure in same size and direction.
Select the correct one.

Options :



70819137479.

70819137481.

N
S

R

>

70819137482.

Question Number : 58 Question Id : 70819111553 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

seelier 2g(clidinAl 2is 2ugld 2er 56 20 Fau il ua 2uglanl gudl ©. wEl orae WAl

Options :

70819137479.

70819137481.

N
S

A

>

70819137482.



Question Number : 59 Question Id : 70819111554 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One of the following answer figures is hidden in the problem figure in same size and direction.
Select the correct one.

Options :
70819137483. ﬁ
70819137484. b
70819137485. O
70819137486. 7

Question Number : 59 Question Id : 70819111554 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
sreliet 20l 215 2ugld Der 58 21 (B 22 s 2uglanl usdl 8, Wl sreet AL

Options :

70819137483. D



v

70819137484.

70819137485. O

70819137486. #

Question Number : 60 Question Id : 70819111555 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures is correct mirror image of problem figure with respect to
X-X?

X
[
[
X
Options :
]
70819137487.

70819137488.



]
[l
]
70819137489,
[
[]
70819137490,

Question Number : 60 Question Id : 70819111555 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
WA gl X-X A 2 e 2l - walioy seser 2uslazisidl 451 53l

X

[]




Options :

70819137487.

70819137488.

70819137489.

70819137490.

Question Number : 61 Question Id : 70819111556 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures is the correct mirror image of the problem t’igure with
respect to X-X ?

X X

Options :

70819137491.

AR

R

70819137492.

70819137493.

&

70819137494.



Question Number : 61 Question Id : 70819111556 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
M2 2igleed X-X A s W3 203wl sestien wuglazimigl 451 s3l.

N\
AN

N1/
(D)
@J

70819137494,



Question Number : 62 Question Id : 70819111557 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer 1’igures is the correct mirror image of the problem figure with
respect to X-X ?

7 X
AN

/
N\ X
Options :
5
L /N\Y
N
70819137495. /
O
LNV
N\
70819137496. /
N
P
N/
70819137497. / \'

70819137498.



N

N4
AN

Question Number : 62 Question Id : 70819111557 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

WA 2l X-X A i e - ulalioy seset 2uglazimigl 45l sql.

/ X
V /NN
/
N X
Options :
O
L /N\Y
N\
70819137495. /
N
L /N\Y
N\
70819137496. /

70819137497.



N

N4
7/ I\

70819137498.

Question Number : 63 Question Id : 70819111558 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures complete the sequence of the problem figure ? Select the
correct one.

Options :

70819137499.

70819137500.

70819137501.



70819137502.

Question Number : 63 Question Id : 70819111558 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

aveltol g la2iiuidl 58 205 w0 2uslazidl Aol yel 51 9 7 215 W weiE s

Al

Options :

70819137499.
70819137500.
70819137501.

70819137502.



Question Number : 64 Question Id : 70819111559 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/

Options :

70819137503.

70819137504.

70819137505.

70819137506.



Question Number : 64 Question Id : 70819111559 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

F-ufaell 2usla 25 et e o 8. dlaedl Eue adl wad w9 22t sesiey 2ugliviiail 45l
sil.

v

Options :

70819137503.

70819137504.

70819137505.

70819137506.



Question Number : 65 Question Id : 70819111560 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

\§

A

Options :

70819137507.

70819137508.

708191375009.



70819137510.

Question Number : 65 Question Id : 70819111560 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

B-yRuell a5 2is wsiddd s oend 9. llaedl ol sl wond 29 221 sreno 2uglawiixisl 4]
$l.

3

/7

Options :

70819137507.

70819137508.



708191375009.

70819137510.

Question Number : 66 Question Id : 70819111561 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/

Options :

70819137511.

70819137512.

70819137513.

70819137514.



Question Number : 66 Question Id : 70819111561 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Bi-ufauell uyld 21s it £ adid O, dladl B sidi wag 29 53 sreio 2igliinil 151

53l

/!

Options :

70819137511.

70819137512.

70819137513.



70819137514.

Question Number : 67 Question Id : 70819111562 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/l

Options :

70819137515.

70819137516.

70819137517.

70819137518.



Question Number : 67 Question Id : 70819111562 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Bi-wleell 2ugla 2is et e veud 8. dlaedl Gl ol woag 29 204 vt 2glaatinil 45l

i
5.

/ﬂ

Options :

70819137515.

70819137516.

70819137517.

70819137518.



Question Number : 68 Question Id : 70819111563 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object, Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/!

Options :

70819137519.

70819137520.

70819137521.

70819137522.

Question Number : 68 Question Id : 70819111563 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

- wbesll 2usld 2is vgisdd e o 9. dladl Bl sidl wad 1 22t sreie 2uglaetivg] 14

g9
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£

Options :

70819137519.

70819137520.

70819137521.

70819137522.

Question Number : 69 Question Id : 70819111564 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

2

Options :

70819137523.

70819137524,

70819137525.

70819137526.

Question Number : 69 Question Id : 70819111564 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



B-wbfesll 2ugld »1s weidd eet vl 6. dlall B sl wad 4 22 srio 20l -4l

5L

7

Options :

70819137523.

70819137524,

70819137525.

70819137526.

Question Number : 70 Question Id : 70819111565 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

7

Options :

70819137527. '

70819137528.

70819137529.

70819137530.

Question Number : 70 Question Id : 70819111565 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



G-l »usld s it e oed 9. dladl Gl sl wag 1 294 ereio uglaeiuil 1
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/

Options :

70819137527. '

70819137528.

70819137529.

70819137530.

Question Number : 71 Question Id : 70819111566 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/I

Options :

70819137531. —I

70819137532. l

70819137533.

70819137534.

Question Number : 71 Question Id : 70819111566 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Bl 2us(a 25 weied] ee etdd 8. dladl e sl wad 1@ g0 seeier 2ugldeixil 441
il.

/

Options :

70819137531. —I

70819137532. |

70819137533.

70819137534.

Question Number : 72 Question Id : 70819111567 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

A

Options :
L]

70819137535.

Ll
70819137536.
70819137537. I:l

L]

70819137538.

Question Number : 72 Question Id : 70819111567 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

B-uRauell 2usld 215 weidi eet oed 9. dladl Bl sidl wad 1 e84 ereno 2uslaeiixidl 141
5il.

J

7

Options :

70819137535.
70819137536.
70819137537.

70819137538.



Question Number : 73 Question Id : 70819111568 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

Options :

|
70819137539. | |

|
70819137540. | I
70819137541. | l

||
70819137542. |

Question Number : 73 Question Id : 70819111568 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Bl-ubanell 2usld 215 usisld e ead 8, dladl Busi sl wog 29 224 sraien 2uglriinial 1
3l.

Options :

|
70819137539. l l

|
70819137540. | |
70819137541. | |

||
70819137542. l

Question Number : 74 Question Id : 70819111569 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/

Options :

70819137543.

70819137544,

70819137545.

70819137546.

Question Number : 74 Question Id : 70819111569 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Bl-ulell 2ugld 215 wsiedd ot otd ©. dladl Faunl sl woag 4@ eed sveot 2uisleiiaiall 44l
5il.

7

Options :

70819137543.

70819137544,

70819137545.

70819137546.

Question Number : 75 Question Id : 70819111570 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct top view, amongst the answer
figures.

Options :

70819137547.

70819137548.

70819137549.

70819137550.

Question Number : 75 Question Id : 70819111570 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Bi-ulauell 2usl »ls uaitd s odd 9. dledl B s wnd e Gul sw svaio sugldziiuisl
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Options :

70819137547.

70819137548.

70819137549.

70819137550.

Question Number : 76 Question Id : 70819111571 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct top view, amongst the answer
figures.

Options :

70819137551.

70819137552,

70819137553.

70819137554,

Question Number : 76 Question Id : 70819111571 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

B-ulusll 2ugla 215 s soy s 8. srset-205aziniEl wied Gudl ee 44 sl

Options:

70819137551.



70819137552.

70819137553.

70819137554.

Question Number : 77 Question Id : 70819111572 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct top view, amongst the
answer figures.

Options :

70819137555.

70819137556.



=

70819137557.

=

70819137558.

Question Number : 77 Question Id : 70819111572 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Bi-ukauell 2usla 2is yeidd g2 e 9. srato-2uglazimisdl 1 Guil 22 44l 53l

Options:
70819137555.
70819137556.

70819137557.



=

70819137558.

Question Number : 78 Question Id : 70819111573 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Idontif}' the buﬂding compositions of having less visual tension amongst the [ ol_lowi_ng ) igures.

(A) (B)
(©) (D)
Options :

70819137559, () and (B)

(B) and (C)
70819137560. " °

70819137561, (&) and (D)

70819137562, (D) and (A)

Question Number : 78 Question Id : 70819111573 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



AL €34 U (visual tension) €14 del Hsi H4lert (building compositions) sreitet 2Atglauial
A% 53

(A) (B)
(©) (D)
Options :

70819137559, (AA) and (B)

(B) and (C)
70819137560.

70819137561, (&) and (D)

70819137562, (P) and (4)

Question Number : 79 Question Id : 70819111574 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.

vV v— U
Ve I:II:I A
Options :

Il
70819137563.




70819137564.

70819137565.

70819137566.

Question Number : 79 Question Id : 70819111574 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A Al 2l v Gl 2 ol 8. dledl Bausl sdetl wg 1% G 294 sraied 2uglaiiigl
A4l 53

Options :

70819137563.

70819137564.

70819137565.

70819137566.



Question Number : 80 Question Id : 70819111575 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The pmhlem figure shows the top view of an ::-hjecl. ldentf_fy the correct elevation amongst
the answer figures looking in the direction of arrow.

/N

Options :

70819137567.

70819137568.

N AR

708191375609.



70819137570.

Question Number : 80 Question Id : 70819111575 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

w2ttt 24 gl Gudl re e 9. el Bausl sdotl wg 19 Gt 294 syatied 20 {ciluiddl
i b’
sl &3,

Options :

70819137567.

70819137568.

70819137569.



70819137570.

Drawing
SectionId: 708191392
Section Number : 4
Section type: Offline
Mandatory or Optional : Mandatory
Number of Questions : 2
Number of Questions to be attempted : 2
Section Marks : 100
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191672
Question Shuffling Allowed : No

Question Number : 81 Question Id : 70819111576 Question Type : SUBJECTIVE

Correct Marks : 50



Draw a proportionate sketch of given reference image by using any black and white rendering
tedmiques of your own choice.

OR

Decode image and prepare balanced composition in a frame of your choice by using any
black and white rendering techniques.

Question Number : 81 Question Id : 70819111576 Question Type : SUBJECTIVE

Correct Marks : 50



AU E6] (ot e, weiad vl vl o Wi audl deeidl Hd /w42l (rendering)
el Gt 53

YA
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Question Number : 82 Question Id : 70819111577 Question Type : SUBJECTIVE

Correct Marks : 50

Draw a scene of a Kite festival by using colors.
OR
Draw a Harmonic three dimensional composition with the following two types of objects.
(i) CUBOID A :SIZE 2 cmx 2 cm X2 cm, 5 Nos.
(i) CUBOID B :SIZE5 em 2 cmx 2 cm, 4 Nos.

Use "Cool Colorscheme” for composition.

Question Number : 82 Question Id : 70819111577 Question Type : SUBJECTIVE

Correct Marks : 50



[A=a o0 ad ydelicuad] Bt glal

A AL
{12 ustaddl oL srgil AuEld didoig 3-D e ol
()  a: wdas 2 WMl x 20l x2 Al ga A5
(i)  mtet: e 5 AL <2384l <2 AWl sd dvad
22l (Composition) M2 “'E41 L21sr-Al"" AL Gyaiie s3l.



